                         标准预测试卷一

                     Section Ⅰ  Listening Comprehension

                                    ( 30 minutes)

 Directions:

      This section is designed to test your ability to understand spoken English. You will hear a selection of recorded materials and you must answer the questions that accompany them. There are THREE parts in this section, Part A, Part B and Part C.

      Remember, while you are doing the test, you should first put down your answers in your test booklet. At the end of the listening comprehension section, you will have 5 minutes to transfer all your answers from your test booklet to ANSWER SHEET 1.

      If you have any questions, you may raise your hand NOW as you will not be allowed to speak once the test has started.

      Now look at Part A in your test booklet.

Part A

      For questions 1 - 5, you will hear a dialogue. While you listen, fill out the blanks with the information you have heard. Some of the information has been given to you before the blanks. You will hear the recording twice. You now have 25 seconds to read the questions below.

       1. Mary enjoys _________________.

       2. The poetry book dated _________________.

       3. According to Mary, Mark Twain' s signature is worth _________________.

       4. John bets his seventy-five cents mystery is _________________.

       5. The conversation probably takes place in _________________.

Part B

       For questions 6 - 10, you will hear a passage. While you listen, answer these questions. You will hear the recording twice. You now have 25 seconds to read the questions below.

        6. Why do the countries like Iran have a lot of earthquakes?

         7. When and where did the strongest earthquake happen in North America?

         8. Where and when did the worst earthquake ever reported happen?

         9. What are the other acts of nature besides earthquakes?

        10. What do people fear the most and why?

Part C

        You will hear three dialogues or passages. Before listening to each one, you will have 5 seconds to read each, of the questions which accompany it. While listening, answer each question by choosing A, B, C or D. After listening, yon will have 10 seconds to check your answer to each question. You will hear each piece only once.

      Questions 11 - 13 are based on the following dialogue. You now have 15 seconds to read the questions 11 - 13.

      11. Why is Mr. Smith in a good mood?

          [A] Because he meets across the women.

          [B] Because he is 37-year-old.

          [C] Because he has a good friend.

          [D] Because Lucy is having a party for his 37 birthday.

      12. What does Lucy look like?

          [A] She wears wavy black hair.

          [B] She is much older than Mr. Smith.

          [C] She is a little taller than the woman in the dialogue.

          [D] She is taller than Mr. Smith.

      13. What's Mr. Smith's trouble?

          [A] He locked his keys in his apartment.

          [B] He doesn't know when the Andersons come back.

          [C] He has to wait outside.

          [D] He didn't dress well for the party.

      You now have 30 seconds to check your answers to questions 11 - 13.

      Questions 14 - 17 are based on the following passage about "Artificial Languages". You now have 20 seconds to read the questions 14 - 17.

      14. Why did the artificial languages appear?

          [A] To take the place of any other language.

          [B] To make it be a universal tongue eventually.

          [C] To show the man's wisdom.

          [D] To get significantly international recognition.

      15. When did the first artificial language appear?

          [A] At about 1880.

          [B] In 1887.

          [C] In the 20th century.

          [D] No one knows it.

      16. What are the advantages of artificial languages?

          [A] They are simple.

          [B] They have no irregular grammatical forms.

          [C] They have no native speakers.

          [D] Both A anti B are right.

   17. Many believe that ________ has the best chance of becoming a universal tongue.

       [A] English

       [B] artificial language

       [C] French

       [D] Chinese

   You now have 40 seconds to check your answers to questions 14 - 17.

   Questions 18 - 20 are based on the following passage. You now have 15 seconds to read the questions 18 - 20.

   18. The main topic of the passage is ________ .

        [A] Benjamin Franklin

        [B] the United States

        [C] the history of the U. S. mail

        [D] star routes

    19. Benjamin Franklin deserves credit mainly because ________ .

         [A] he established the United States postal system

         [B] he served as the postmaster general

         [C] he increased the number of post offices

         [D] he was made postmaster by the U. S.

    20. The reason to start "star routes" is ________ .

         [A] some communities were too far

         [B] the horse was too slow

         [C] the train was much convenient

         [D] private contractors paid to deliver mail

     You now have 30 seconds to check your answers to questions 18 - 20.

     You now, hate 5 minutes to transfer all your answers from, your test booklet to ANSWER SHEET 1.

      That is the end of Listening Comprehension.

Section Ⅱ   Use of English

( 15 minutes)

      Directions:

      Read the following passage. Choose the best word for each number blank and ,mark A, B, C or D ANSWER SHEET 1.

       Do you have any knowledge of the space station? A space station is a place   21   people can and work on space   22    long periods. It orbits the earth, usually about 200 to 300 miles high. A space station may   23   as an observatory, laboratory, factory, workshop, warehouse, and fuel depot. Space stations are much larger than manned spacecraft,   24    they provide more comforts. Manned spacecraft may   25    people between the earth and the space station. Unmanned spacecraft may supply the station   26   food, water, equipment, mail and so on.

      Small space stations can be   27   on the earth and launched orbit by   28   rockets. Larger stations are   29   in space. Rockets or space shuttles   30   modules of the station into space, where astronauts assemble them. Old modules can be replaced, and new modules can be   31   to expand the station.

     A space station has   32   one docking port   33   which a visiting spacecraft can attach itself. Most docking ports   34   of a rimmed doorway called a hatch that can connect   35   the hatch on the visiting spacecraft to form an airtight seal. When the two hatches open, they form a pressurized tunnel between the station and the visiting spacecraft.

     The main tasks of a space station crew involve scientific research. For example, they might analyze the   36   of micro gravity on various materials,   37   the earth's surface, or study the stars and planets.

Astronauts   38   a space station also   39   much of their time to the assembly of equipment and the expansion of the station's facilities. This includes   40   beams, connecting electrical and gas lines, and welding permanent joints between sections of the station. The crew must also fix or replace broken equipment.

21. [A] which      [B] that      [C] where      [D] in which

22. [A] in         [B] at        [C] with       [D] for

23. [A] serve      [B] work      [C] help       [D] assist

24. [A] while      [B] so        [C] whereas    [D] where

25. [A] fetch      [B] take      [C] bring      [D] transport

26. [A] with       [B] within    [C] to         [D] from

27. [A] shaped     [B] set      [C] constructed  [D] established

28. [A] big        [B] large     [C] medium     [D] little

29. [A] assembled  [B] constructed  [C] built   [D] manufactured

30. [A] get        [B] fetch      [C] carry       [D] move

31. [A] joined     [B] linked     [C] connected   [D] added

32. [A] at best    [B] at most    [C] at least    [D] at hand

33. [A] to         [B] in         [C] at          [D] on

34. [A] compose   [B] make up    [C] consist     [D] constitute

35. [A] for        [B] with       [C] and         [D] to

36. [A] strength   [B] force      [C] affect      [D] effects

37. [A] watch      [B] examine    [C] investigate [D] inspect

38. [A] at         [B] on         [C] in          [D] off

39. [A] devote     [B] connect    [C] add         [D] pay

40. [A] erect      [B] to erect   [C] erecting    [D] erects

Section Ⅲ   Reading Comprehension

(60 minutes)

Part A

     Directions:

     Read the following four passages. Answer the questions below each passage by choosing A, B, C or D. Mark your answers on ANSWER SHEET 1.

Passage 1

     With the development of science and technology, we know much of glaciers. For all their great diversity of shapes and sizes, glaciers consist of two essential types: valley glaciers, which flow downhill from mountains and are shaped by the constraints of topography, and ice sheets, which flow outward in all directions from domelike centers of accumulated ice to cover vast expanses of terrain. Whatever their types, most glaciers are remnants of great shrouds of ice that covered the earth eons ago. In a few of these glaciers the oldest ice is very ancient indeed: the age of parts of tile Antarctic sheet may be over 500,000 years.

     Glaciers are born in rocky wombs above the snow line, where there is sufficient winter snowfall and summer cold for snow to survive the annual melting. The long gestation period of a glacier begins with the accumulation and gradual transformation of snowflakes. Soon after they come to the ground, complex snowflakes are reduced to compact, roughly spherical ice crystals, the basic components of a glacier. As new layer of snow and firn, snow that survives the melting of the previous summer, accumulate, they squeeze out most of the air bubbles trapped within and between the crystals below. This process of recrystallization continues throughout the life of the glacier.

     The length of time required for the formation of glacier ice depends mainly upon the temperature and the rate of snowfall. In Iceland, where snowfall is heavy and summer temperature is high enough to produce plenty of melt water, glacier ice may come into being in a relatively short time—for example, ten years. In parts of Antarctica, where snowfall is scant and the ice remains well below its melting temperature year-round, the process may require hundreds of years.

     The ice does not become a glacier until it moves under its own weight, and it can not move significantly until it reaches a critical thickness—the point at which the weight of the piled-up layers overcomes the internal strength of the ice and the friction between the ice and the ground. This critical thickness is about 60 feet. The fastest moving glaciers have been gauged at not much more than two and a half-mile per year, and some cover less than 1/100 inch in that same amount of time. But no matter how infinitely small the flow, movement is what distinguishes a glacier from a mere mass of ice.

     41. Which will be the best title for the passage?

          [A] How Glaciers Come into Being.
          [B] How Glaciers Move Around.

          [C] The Classification of Glaciers.
        [D] The Volume and Shape of Glaciers.

    42. In order to describe the development of glaciers, the author uses the analogy of ________.

         [A] creation
 [B] birth

         [C] recrystallization
         [D] gestation

    43. The phrase "the process" in the last sentence of paragraph three refers to ________.

         [A] the recrystallizing process

         [B] the process to create a glacier

         [C] the formation of valley glacier

         [D] the accumulation of tae previous years snow

    44. Which of the following word can best explain the word "critical" on the second line,  paragraph 4 ?

         [A] Crucial.
         [B] Looking for faults.

         [C] Great.
         [D] Dangerous.

     45. We can tell the difference between a glacier and a mere mass of ice by ________.

          [A] the thickness of the ice
          [B] the movement of the ice

          [C] the weight of the ice
          [D] the amount of ice

Passage 2

     D. H. Lawrence is one of the greatest English novelists of the 20th century, and, perhaps, the greatest from a working-class family. During his life-long literary career, he had written more than ten novels, several volumes of short stories and a large number of poems. And one of his most famous novel and masterpiece is Women in Love

      As its title implies, Women in Love is a novel about two pairs of lovers, around whom a series of episodes are dramatically presented. The two heroines are Ursula Brangwen and her younger sister Gudrun; and the two chief male characters are Gerald Crich, a young coalmine owner, and Ruport Birkin, a school inspector. At the opening of the story, Ursula and Birkin strike an immediate  kinship with each other, while Gudrun is attracted by Gerald's physical energy. The rest of the novel is a working out of the relationships of these four through interrelating events and conflicts of personalities. After a series of ups and downs, Birkin and Ursula have reached a fruitful relationship by maintaining their integrity and independence as individuals and decided to get married in the end. But the passionate love between Gudrun and Gerald experiences a process of tension and deterioration. As both of them have lit their "will-power" and "ideals" interference with their proper relations, their love turns out to be a disastrous tragedy. Women in Love is rich in its symbolic meanings. Gerald Crich, an efficient but ruthless coalmine owner, who makes the machine his god and establishes the inhuman mechanical system in his mining kingdom, is a symbolic figure of spiritual death, representing the whole set of bourgeois ethics. Whereas Birkin, a self-portrait of Lawrence, who fights against the cramping pressures of mechanized industrialism and the domination of any kind of dead  formulas , is presented as a symbolic figure of human warmth, standing for the spontaneous life force. Women in Love is a remarkable novel in which the individual consciousness is subtly revealed and strands of themes are intricately wound up. The structural pattern of the book derives from the contrast between the destinies of the two pairs of lovers and the subordinate masculine relationship between Birkin and Gerald. Thus, Women in Love is regarded to be a more profoundly ordered novel than any other written by Lawrence.

     46. What is the theme of the passage?

        [A] D. H. Lawrence.
        [B] Lawrence's novels.

        [C] Lawrence's masterpieces.
       [D] A brief introduction of Women in Love.

     47. According to the passage, what is the meaning of the phrase "ups and downs" in the fifth sentence of paragraph two?

       [A] Good and bad experiences.
       [B] The movement of going up and down.

       [C] Conflicts.
      [D] Happiness.

     48. Why does the love between Grudrun and Gerald experiences a process of tension and deterioration?

          [A] Because they don't love each other.

          [B] Because they only have passionate love.

          [C] Because they all have strong personalities.

          [D] Because their love is interfered by their strong wills and ideals.

     49. What is the difference between Gerald and Birkin?

          [A] Gerald establishes the inhuman mechanical system in his mining kingdom.

          [B] Birkin thinks highly of human warmth.

          [C] Gerald is a physically live but spiritually dead man.

          [D] All of the above are right.

     50. What do people think of Women in Love?

          [A] It is the best novel written by Lawrence.

          [B] It is the most profound novel of Lawrence.

          [C] It is one of his masterpieces.

          [D] It is a more profoundly ordered novel and is regarded as one of his masterpieces.

Passage 3

     Auctions are public sales of goods, conducted by an officially approved auctioneer. He asks the crowd assembled in the auction room to make offers or "bids", for the various items on sale. He encourages buyers to bid higher prices, and finally names the highest bidder as the buyer of the goods. This is called "knocking down" the goods, for the bidding ends when the auctioneer bangs a small hammer on a table behind which he stands. This is often set on a raised platform called a rostrum.

      Practically all goods whose qualities vary are sold by auction. Among these are coffee, hides, skins wool, tea coca, furs, spices, fruit and vegetables and wines. Auctions sales are also usual for land and property, antique furniture, pictures, rare books, old china and similar works of art. The auction rooms at Christie's and Sotheby's in London and New York are world-famous.

      An auction is usually advertised beforehand and with full particulars of the articles to be sold and where and when they can be viewed by prospective buyers. If the advertisement can not give full details, catalogues are printed, and each group of goods to be together, called a "lot", is usually given a number. The auctioneer need not begin with lot 1 and continue in numerical order; he may wait until he registers the fact that certain dealers are in the room and then produce the lots they are likely to be interested in. The auctioneer's services are paid in the form of a percentage of a price the goods are sold for. The auctioneer therefore has a direct interest in pushing up the bidding as high as possible.

     The auctioneer must know fairly accurately the current market values of the goods be is selling, and he should be acquainted with regular buyers of such goods. He will not waste time by starting the bidding too low. He will play on the rivalries among his buyers and succeed in getting a high price by encouraging two business competitors to bid against each other. It is largely on his advice that a seller will fix a "reserve" price, that is, a price below which the goods cannot be sold. Even the best auctioneers, however, find it difficult to stop a "knock-out", whereby dealers illegally arrange before- hand not to bid against each other, but nominate one of themselves as the only bidder, in the hope of buying goods at extremely low price. If such a "knock-out" comes off, the real auction sales take place privately afterwards among the dealers .

      51. Auction goods are sold _________.

           [A] at the highest price given by the buyer

           [B] only at a price higher than their true value

           [C] at a price less than their true value

           [D] at a price given by the auctioneer

      52. The reason why the end of the bidding is called "knocking down" is that _________.

           [A] the auctioneer knocks the buyer down

           [B] the buyer knocks the auctioneer down

           [C] the auctioneer knocks the rostrum down

           [D] the auctioneer bangs the table with a small hammer

      53. The auctioneer may decide to sell the "lot" out of order because _________.

         [A] he thinks that some are more valuable than the others

         [B] from the registrations, he knows that certain people will want to buy certain items

           [C] he fails to give full details of some articles

           [D] he is not in the world famous auction rooms

       54. What is the meaning of the phrase "come off" in the last paragraph.'?

           [A] Succeed.                    [B] Take place.

           [C] Get on.                     [D] Fail.

       55. Why does the auctioneer is interested in encouraging the competitors to bide

            [A] To get a higher price.

            [B] To increase his salary or service fees.

            [C] To help the seller get a higher profit.

            [D] To cheat the buyers to offer higher figures.

Passage 4

     Recently housing is recognized as a "socially determinant variable". In France, housing is the main item of expenditure in the family budget ( accounting for an average of 29 percent), and many families would be unable to find decent housing without help from the State. For a long time, the main problem was the housing shortage but in recent years the deterioration of housing conditions has been giving even greater cause for concern.

     Despite extensive construction programs, the problem of housing for the most underprivileged population groups has not been solved. According to the so-called Petrequin Report, between 2 and 3 million families had serious difficulties meeting their housing costs and were living in precarious and uncomfortable conditions.

      Policies designed to address the housing problem have shifted over the past few decades from a macroeconomic approach promoting construction to housing subsidies. The reasons for this shift agree with the determination to limit public spending and to avoid some of the perverse effects of macroeconomic policies. The State has to some extent ceased to finance housing, especially the construction of new projects, with the result that the cost is now chiefly and directly borne by the family budget. Many underprivileged families, which were excluded from low-rent housing for various reasons  (selection of tenants, saturation of existing capacity, insolvency), had no alternative but to purchase their own home and were encouraged to do so without restraint by the easy terms of housing loans. The housing sector thus contributed to the development of the "economy of indebtedness". It should indeed be emphasized that "widespread home ownership through resource to borrowing could only be to the detriment of low-income families".

      In Belgium, the quality of housing, considered the prime indicator of housing deprivation, heaves much to be desired. Low-rent housing projects have been cut back as part of the austerity policy pursued by the national and regional governments, and low-income households are finding it increasingly difficult to find somewhere to live. The number of homeless has also taken on alarming proportions. An estimated 3,000 persons spend the night in refuges, but the figure is probably much higher. Moreover, the number of homeless women and young persons is increasing.

      56. In the author's opinions, housing is _________.

           [A] a problem solved only by the society and not by individuals

           [B] invariable and unchangeable

           [C] not determined by the society

           [D] socially determinant and changeable

      57. Recently, people more concern about _________.

    [A] the housing shortage and the housing deprivation in Belgium

           [B] the deterioration of housing conditions

           [C] the government's macroeconomic and microeconomic policies

           [D] how to buy their own houses by the aid of the government

      58. Why has the government shifted its policies from a macroeconomic approach promoting construction to housing subsidies?

    [A] To increase its domestic budget.

    [B] To limit public spending and to avoid some of the perverse effects of macroeconomic policies.

    [C] To address the housing problem.

    [D] To help the low-income families have decent houses.

 59. According to the passage, which of the following statements is true?

    [A] In most countries, housing is the main item of expenditure in the family budget.

    [B] In Belgium, low-rent housing projects have been cut back by the national and regional governments so that the number of homeless has increased greatly.

    [C] The government determined to aid the construction of new projects.

    [D] In Belgium, the quality of housing meets the consumers need.

 60. The main topic of the passage is _________.

     [A] housing problem

     [B] the difficulties to buy a house

     [C] how to get a housing loan

     [D] the life of the under-privileged people in Belgium

Part B

     Directions:

     Read the following passage carefully and then translate the underlined segments into Chinese. Your translation should be written clearly on ANSWER SHEET 2.

     61. The Chinese Constitution stipulates that women enjoy equal political rights with men and they also enjoy the equal right to vote and to stand for election. In the past 4 decades, the number of women deputies elected to the National People's Congress, the country's highest organ of state power, has been steadily increasing. At the First National People's Congress held in 1954, there were only 147 women deputies, comprising 11.9% of the total, whereas in 1993 at the Eighth People's Congress, the number had risen to 626, or 21.03% of the total.

     62. Chinese women participate in the management of state affairs through their own organization—the All-China Women's Federation, which is a mass organization for women of all nationalities and all trades and professions. The basic function of the women's federation is to represent and protect women's rights and interests and to achieve equality between women and men. Women's federations at various levels and their member organizations also recommend female cadres to state organs, mass organizations, enterprises or institutions. In China, these women's organizations range from central government-level to local-level, and from village and township-level in rural areas to street-level in cities. Through these organizations women put forward proposals concerning their own interests or air their views on important national affairs. Many of their proposals and opinions have been conveyed by the women's federations to the governments at all levels or the departments concerned, where they were given serious consideration.

    63. Many distinguished women now occupy responsible positions in the People's Congress, the People's Political Consultative Conferences, and the governments at various levels. There are 17 women members on the Standing Committee of the Eighth National People's Congress and among the 19 vice chairpersons, 2 are women. In the Chinese People's Political Consultative Conferences, there are 28 women members on the standing committee and 1 woman vice chairperson. Up to September 1991, the percentage of female officials at various levels accounted for 30.6% of the country's total, an increase of 26 times over the figure in 1951. China now has 1 female state councilor and 3 female ministers. Nearly 13 % of the country's 1,500 mayors are women.

     64. Many problems still exist that stand in the way of Chinese women contributing more to the political and social life of tile country. For instance, in some under-developed areas, women are still despised and discriminated against by some sections of the society while the political consciousness of women remains to be awakened and developed. Though many women now hold important offices, the number of women officials is still quite small, compared with the country's large female population and workforce. Furthermore, the higher the government positions, the fewer women there are to hold offices, and the majority of female leaders are put in subordinate or deputy positions.

     65. To promote women's involvement in state affairs, the whole society should make strenuous efforts to speed up the country's economic and cultural development while raising the consciousness of both women and men, and encouraging self-respect, self-confidence, self-reliance and self- strengthening in women. Meanwhile, women cadres should be given more opportunities for involvement in the country's political life.

Section Ⅳ  Writing

(35 minutes)

     66. For this part, you are allowed 35 minutes to write a composition based on the following directions:

     1) Title: The Importance of Forgetting

     2) Base the article on the following outline:

         A. Put forward the idea that to forget is important.

         B. Prove your idea with a supposition.

         C. Conclusion.

      You should write 160 - 200 words on ANSWER SHEET 2.

 答案

标准预测试卷参考答案及解析

    标准预测试卷(一)

 1．going through secondhand bookstores

 2．1874

 3．about 0.5 million dollars

 4．a good buy

 5．a secondhand bookstore

 6．These countries are usually quite mountainous．

 7．In 1964 in Alaska．

 8．In China and in 1556．

 9．Floods，tidal waves，and bad storms．

 10．They most fear the earthquakes because we have no warning before an earthquake comes．

 第1～10题解析略。

 11．[答案]  D

    [解析]  此题的迷惑项是B项。Mr．Smith 高兴的原因不是因为他37岁，而是因为．．．and a friend is having a party for me tonight．这样可以选出D。

 12．[答案]  C

    [解析]  细节题。文中在提及 Lucy 的长相时是这样说的，She’s got wavy brown hair， and she is a little taller than you．She is about my age．这样可以选出C而排除A、B。D文中没有提及。

 13．[答案]  A

    [解析]  细节题。听完全文可以发现他遇到的最大麻烦是把钥匙锁在公寓里了。D迷惑性较大，从文中提到的 “I cannot go to the party dressed like this．”可以推导出D中的结论。但最终的原因还是A。

 14．[答案]  B

    [解析]  文中前面部分提到．．．each in the hope that it might eventually become a  universal tongue．这样可以看出 artificial languages 出现的真正的原因是它有可能最终成为一种世界性的语言。

 15．[答案]  A

  [解析]  文中提到 The first attempt at an artificial language was Volapuk，which  appeared at about 1880．除A之外，余下的均是干扰项。

 16．[答案]  D

    [解析]  文中最后部分提到 The great advantage of artificial languages lies in their simplicity and the absence of irregular grammatical forms．这样可以推导出A、B均为正确的选项，而C是 artificial languages 的劣势。

 17．[答案]  A

     [解析]  文中最后一句：The tremendous increase in the use and study of English since World War II has led many to be lieve that English．．．has the best chance of eventually becoming a universal tongue．这样可以选出A而排除其他的选项。

 18．[答案]  C

  [解析]  听完全文可以发现文中反复提到 mail，postal system，一直在讲美国邮政的历史形成过程。这样可以选出C。

 19．[答案]  A

  [解析]  文章从中部开始提到 Benjamin Franklin——他所任的职务及其所做出的贡献。“Franklin was responsible for establishing the United States postal system on permanent basis．”是关键句子，注意题干中的 mainly 一词，这样可以选出A。

 20．[答案]  A

  [解析]  文中有一句是这样说的：Some communities，especially those out west，were far from the services of transportation．To serve them，the post office developed a system called“star routes”．在这句话中，不定式短语 to serve them 用作目的状语解释了开通 star routes 的原因。

 21．[答案]  C

  [解析]  通读全句，可以发现此处缺一个关系副词引导的定语从句修饰先行词place，同时在定语从句中做 live and work 的地点状语，which 与 that 容易排除，而 in which 迷惑性较大，但 station 一般与介词at连用。

 22．[答案]  D

  [解析]  这里考查的是词语搭配。当 periods 表示“一段时间”时，常跟 for 搭配。而一般不与 in 及 with 连用。当与 at 搭配时表示“时期”。

 23．[答案]  A

  [解析]  这里考的是 serve as 这个搭配，表示的是 be good enough or suitable for a  purpose(合适、适用)。此句意思是“航空站可用作观象台、实验室……”，而 assist、help 一般做及物动词，不与as直接搭配。当 work 与 as 搭配时，主语一般是人表示“人做什么工作”。

 24．[答案]  B

  [解析]  通读整句可以发现此处缺的是一个表示因果关系的连词，意思是说：“因为航空站要比载人飞船大得多，所以更舒适一些。”while是表示伴随关系的连词，whereas是表示“然而，但是”的连词，where 是表示地点的关系副词。因此B正确。

 25．[答案]  D

  [解析]  此处 transport 表示的是“运输、运送”之意。该句是说明载人飞船的作用：在地球与航空站之间往返运送人与物。bring 与 take 一般与 to 连用，而 fetch 无“运输，运送”之意，表示“去取来”。

 26．[答案]  A

  [解析]  这是一道考动词搭配的题。supply somebody/a place with something 表示“向某人、某地供应某物”。supply 一般不与 within 或 from 连用。to 是个迷惑性较大的选项。当 supply 与 to 连用时，一般这样搭配：supply something to somebody/ a place。

  27．[答案]  C

    [解析]  联系前后文，可以看出此句是在说：小的航空站可以在地球上被建造起来，然后再被送入轨道。此处的建造我们只能用 construct。shape 表示“制成……形状”。 set 表示“安排，调整”等。establish 一般表示“建立团体、组织及学校”等。

 28．[答案]  B

    [解析]  通过前后文可以发现：在运送小航空站时一般是整体发射而不是拆开的，所以应该选择大一点的火箭。big 迷惑性比较大，但是 big 是一个比较口语化的词。而 large 比较正式，medium 表示“中间的，中等的”。

 29．[答案]  A

    [解析]  assemble 表示“组装”。通过后文的 where astronauts assemble them 可以找到答案。此句意思是说“大的航空站是在太空中被组装起来的”。

 30．[答案]  C

    [解析]  carry 在此处表示“运送”，强调的是“用特定的工具把东西运送到目的地”。 get 表示“得到”，而 fetch 表示“去拿来”。move 只是一个干扰项。

 31．[答案]  D

    [解析]  此句意思是说：“旧的航空舱可以被更换同时可以增添新舱来扩大航空站的

    规模。”join 表示“连接，接合”，与题意均不相符，link 表示“连接，联系”，connect 表示“把……跟……联系起来”，常与 with 跟 to 搭配。

 32．[答案]  C

    [解析]  根据句意可知，每个航空站至少应该有一个停靠港。at least 表示“至少”；at best 表示“充其量”; at most 表示“最多，不超过”；at hand 表示“即将发生”，是个纯粹的干扰项。

 33．[答案]  A

    [解析]  此处选 to 是与后文 attach 搭配。on which 用来做定语，修饰 one docking port，表示其作用：路过的飞船可以在其上停靠。此处 attach to 引申为“着陆，停靠”。

 34．[答案]  C

    [解析]  此处考的是动词搭配。consist of 表示“由……组成”，主语为整体，而当 compose，make up，constitute 表示“构成”时，主语应该为部分。

 35．[答案]  B

    [解析]  本题考词语搭配。connect with something 表示的是“与……相连接”。to 跟 and迷惑性较大，但当 connect 与他们连用时，connect 后面一般不能省略宾语。

 36．[答案]  D

    [解析]  联系上下文，analyze the effects of micro gravity on various materials 表示的是“分析失重状态对各种事物的影响”。而表示“影响”的名词只有最后一个选项。

 37．[答案]  C

    [解析]  watch 纯粹是一个干扰项，表示“观看”。examine，investigate 及 inspect 都表示“检查”，其区别在于 examine 及 inspect 都强调“近距离检查”，在此处与文意不符。

 38．[答案]  A

    [解析]  at a space station 在此处是一个地点状语，限定前面 astronauts，特指“在航空

 站的宇航员”。

 39．[答案]  A

  [解析]  本题考查搭配。devote time/efforts to something 表示“致力于”，此处表示“在航空站的宇航员大部分时间忙于……”。connect something to something 表示“把……跟……连接起来”，add something to something 表示“增添”，而 pay 常用的搭配是 pay something to somebody/something。

 40．[答案]  C

  [解析]  联系前后文可知，此处是几个并列的动名词 erecting，connecting 和 welding做宾语。所以选C。

 41．[答案]  A

    [解析]  这是一道主旨题。通读全文可知，全文一直在讨论冰山是如何形成的，所以我们选A；文章只有在最后一段才提到冰山是如何移动的，所以排除B；文章只有在第一段才提到冰山的分类及其基本的类型，所以排除C；D选项文中并没有提及。

 42．[答案]  B

    [解析]  要解答好此题，最重要的是要正确理解 analogy 的意思，表示“类比”。这样容易从第二段第一句 Glaciers are born in rocky wombs above the snow line．．．中的 born (诞生)、womb (孕育处)以及第二句中的 gestation (妊娠)中找出答案。所以我们选择 B。此处作者是把冰山的形成跟人及动物的诞生相类比。

 43．[答案]  B

    [解析]  要正确理解此题需要通读第三段，the process 是指冰山的形成过程，A选项在第二段提到过，但与此题无关。C、D选项均是迷惑项。

 44．[答案]  A

    [解析]  该题的答案在最后一段。critical 在此处是指冰山已移动的一个临界的厚度，后面紧接着解释了该词。所以我们选择A，而不选择它的另一个意思“挑毛病的”，即 B选项。C不够具体，如果把临界厚度引申为D项“危险的”，就有点绝对了。

 45．[答案]  B

  [解析]  该题从最后一段最后一句话就容易找出答案。But no matter how infinitely small the flow，movement is what distinguishes a glacier from a mere mass of ice．(无论移动有多么小，移动都是区分冰山跟一般的冰块的标志。)所以我们选B。

 46．[答案]  D

  [解析]  通读全文可以发现，本段文章花了最大的篇幅来介绍 Women in Love，而不是在介绍 Lawrence 或者他的小说及其代表作。

 47．[答案]  A

  [解析]  通读前后文可以找到答案。此处 ups and downs 是指“生活中的沉沉浮浮”，所以我们选A。C、D不够完整，B选项是其字面的意思。

 48．[答案]  D

    [解析]  此题答案在第二段的第六句中，As both of them have lit their“will-power” and “ideals”interference with their proper relations．．．，As 此处表示“由于、因为”，这样可以选出D。A、B选项的意思与文中相反。C选项不够完整。

  49．[答案]  D

    [解析]  此题答案从第二段的第八句及第九句中可以找到。这样我们可以看出A、 B、C均是他们之间的不同点，所以选D。

 50．[答案]  D

    [解析]  通读全文，尤其是通过第一段“And one of his most famous novel and master- piece is ,Women in Love．”及第二段的最后一句“Women in Love is regarded to be a more profoundly ordered novel than any other written by Lawrence．”可以找到答案。A、B选项文中没有确切提及。C选项不够完整。

 51．[答案]  A

    [解析]  这是一道细节题。通读全文，尤其是第一段第三句 He encourages buyers to bid higher prices，and finally names the highest bidder as the buyer of the goods．(他鼓励买者给出更高的价钱，最后选定出价最高的这位买主。)这样可以推断出物品是以最高价卖出的，故选A。B选项根据常识可以排除。C选项与文意相悖。D中拍卖者给出的价钱只是个起价(最低价)，而不是卖价。

 52．[答案]  D

    [解析]  这是一道细节题。答案来源于第一段第四句 This is called“knocking down” the goods，for the bidding ends when the auctioneer bangs a small hammer on a table  behind which he stands．(这就是“成交”，因为当拍卖结束时，拍卖者会用一个小锤子敲击他面前的小桌子。)这样我们选D，而排除其他的选项。

 53．[答案]  B

    [解析]  细节题。此题的答案在第三段中。第三句为：The auctioneer need not begin with lot 1．．．he may wait until he registers the fact that certain dealers are in the room．．．也就是说，在拍卖者拍卖之前他会对买家所想购买之物进行登记。所以我们选B。剩下的选项均是迷惑项。

 54．[答案]  A

    [解析]  细节题。根据前后文“whereby dealers illegally arrange beforehand not to bid against each other but nominate one of themselves as the only bidder，in the hope of buying the goods at extremely low price．”“．．．the real auction sales take place privately after- wards among the dealers．”可知如果他们的非法活动不是成功的话，他们就不会自己私下里再拍卖。B选项不够完整，C、D选项是迷惑项。

 55．[答案]  B

    [解析]  细节题。问题的答案隐藏在第三段最后两句中 The auctioneer’s services are paid in the form of a percentage of a price the goods are sold for．(拍卖者的报酬与拍卖品成交价格之间有一定的比例。)这样我们可以看出，拍卖者的最终目的在于拿到更高的服务费。A选项迷惑性较大，是一个合题意的选项，但不是最好的选项。

  56．[答案]  D

    [解析]  文章的首句开篇点题。Housing is recognized as a“socially determinant variable”．(住房问题是一个由社会所决定的变量。)此处正确理解 variable 非常重要。这样可以选出D，而排除B、C。通读全文可以发现A项作者并没有提到。

  57．[答案]  B

  [解析]  A选项是个迷惑性较大的选项。第一段第三句为 For a long time，the main problem was the housing shortage but in recent years the deterioration of housing conditions has been giving even greater cause for concern．(长期以来，主要问题是住房短缺，但是近几年住房条件恶化引起了更大的关注。)读完整句话，可以选B而排除A。C、D文中并没有提到是人们关心的问题。

 58．[答案]  B

  [解析]  该题的答案在第三段的第二句，即 The reasons for this shift agree with the de- termination to limit public spending and to avoid some of the perverse effects of macroeconomic policies．这样我们可以选出B。A、D文中并没有提到。C选项迷惑性较大，但通过前后文比较容易排除。

 59．[答案]  B

  [解析]  该题的答案在最后一段尤其是第二、三句，即 In Belgium，．．．，．．．and low  income are finding it increasingly difficult to find somewhere to live．The number of homeless has also taken on alarming proportions．这样我们发现B是正确的选项。A选项中的in most countries是不符文意的。第三段第三句为：The State has to some extent ceased to finance housing，especially the construction of new projects．这样我们可以排除C。通过最后一段第一句可以排除D。

 60．[答案]  A

  [解析]  通读全文可以发现，文章一直在讨论A项(住房问题)。而不是在讨论买房子的困难，或者如何获得购房贷款，或者比利时穷人的生活。

 61．[翻译]  中国宪法规定妇女跟男性享有平等的政治权利，同时还享有平等的选举权和被选举权。

 62．[翻译]  中国妇女通过她们自己的组织——中华全国妇女联合会——参与国家事务的管理。中华全国妇女联合会是全国各民族妇女及各行各业妇女的联合组织。

 63．[翻译]  现在很多杰出的妇女在全国人民代表大会、全国人民政治协商会议及各级人民政府中担任相应的职务。

 64．[翻译]  许多阻碍中国妇女为国家政治及社会生活服务的问题仍然存在。

 65．[翻译]  为了促进女性参与社会事务，整个社会都应该在提高人们意识，鼓励妇女自尊、自信、自立及自强的同时，努力加速中国经济及文化的发展。

 第61—65题解析略。

 66．参考范文：

       The Importance of Forgetting

     We are often complaining about our poor memory; in other words, we always fail to remember something. However, sometimes, forgetting can be as important as, even more important than remembering.

     Provided that you offended your friend when playing a joke on him, forgetting will be more important than remembering.

       Supposing you offended your friend by playing a joke on him. You have seen your mistake and asked his pardon sincerely. But from that time on, you find that he is no longer the same friend, at least not so good as before. You think time and again, and then get a conclusion that there is no other reason than the fact you have offended him once. And he remembers it all the time, though apparently he forgave you. What will be your feelings?

     From the above example, it will be easy to get the conclusion that forgetting is necessary as well. We all should try our best to forget others' mistakes or offences, and remember their good and merits. Then our life will be more harmonious and beautiful.

听力原文

  标准预测试卷(一)

    Part A

       Mary: You enjoy going through secondhand bookstores, don't you? It is interesting to see what people used to enjoy reading. Did you see this old book of children's stories?

      John: Some of these books aren't so old, though. See? This mystery was published only six years ago. It cost seventy-five cents. You can't beat that.

      Mary: Ha! Look at this book !

      John: What? Are you getting interested in nineteenth-century poetry all of a sudden?

      Mary: No. Look at the inscription. Someone gave this book as a present and wrote a note on the inside of the front cover. It is dated 1874. Maybe it is worth something.

      John: Everything on that shelf is worth 55 cents.

      Mary: But if this is the signature of someone who is well known, it might bring a lot more. I hear Mark Twain's signature is worth about 0.5 million dollars.

      John: Oh? I can hardly read what that one says. Who wrote it?

      Mary: The name looks like "Harold Dobson". Maybe "Dobbins"? Wasn't he a politician or something? I am going to buy this book and see if I can find a name like that in the library.

     John: Good luck. Your poetry book may make you rich, but I will bet my seventy-five cents mystery is a good buy.

                                                     Part B

     Earthquakes are something that most people fear. There are some places that have few or no earthquakes. Most places in the world, however, have them regularly. Some places, like Iran and Guatemala have them frequently. Countries that have a lot of earthquakes are usually quite mountainous.

     The most talked about earthquake in the United States was in San Francisco in 1906. Over 500 people died in it. The strongest one in North America was in 1964. It happened in Alaska. Some earthquakes are not always tile ones that kill the most people. In 1755, one of the strongest  earthquakes ever recorded was felt in Portugal. Around 20,000 people died.

     In 1923, a very powerful earthquake hit the Tokyo-Yokohana area of Japan. A hundred and forty thousand people died. Most of them died in fires which followed the earthquake.

     One of the worst earthquakes ever was in China in 1976. It killed a large number of people. The worst earthquake ever reported was also in China. 400,000 people were killed or injured in this quake, which happened in 1556.

       Earthquakes are not the only acts of nature which people fear. Floods and tidal waves also cause people to be afraid. So do bad storms like typhoons and cyclones. Sometimes these things cause lots of deaths. In 1970, a cyclone and tidal wave killed over 200,000 people in Pakistan.

      These kinds of things make people afraid and they are very dangerous. But they probably do not worry people as much as earthquakes, especially in these modern times. The reason is that we often know they are coming, we have some warning. Someday we may be able to know an earthquake is coming. So far, however, no sure way is known to predict an earthquake. When one comes, it is a surprise. People can not prepare for it.

                                        Part C

      Questions 11-13

      (W: Woman  M: Man )

     W: You seem to be in good mood, Mr. Smith.

     M: Well, today' s my thirty-seven birthday, and a friend is having a party for me tonight.

     W: That is really wonderful.

     M: Maybe you know her. She lives in the building too. Her name is Lucy Smith.

     W: I am not sure. What does she look like?

     M: Well, she' s got wavy brown hair, and she is a little taller than you. She is about my age.

     W: Oh, Professor Smith7 I met her once.

     M: Well, I have to get back to my apartment.

     W: What is the matter? You look upset.

     M: I think I locked my keys in my apartment.

     W: Uh-oh, You've got a real problem. The Andersons are lot home now.

     M: Do you know when they will be back? Maybe I will wait here the pool.

     W: I don' t think that' s a good idea. They went away for at least one week.

     M: At least one week! What am I going to do? I can' t go to a party dressed like this.

     W: Wait! I just remembered! Can Johnson in apartment 201 take over Mr. Anderson's duties this week?

     M: Great! Thank you for your help.

      Questions 14-17

     The term "Artificial Languages" refers to those that have been artificially constructed, each in the hope that it might eventually become a universal tongue. Although a number of such languages have been created, only one, Esperanto, has achieved a significant measure of international recognition.

     The first attempt at an artificial language was Volapuk, which appeared at about 1880. Though difficult to learn and as a result short-lived, it did inspire others to attempt a better system. In 1887, L. L. Zamenhof, of Warsaw, Poland, introduced Esperanto, with its greatly simplified grammar and logically constructed vocabulary. Esperanto, meaning "one who hopes", soon developed a large following of dedicated speakers, and later a significant body of literature. Many of the world's literary masterpieces have been translated into Esperanto. Numerous attempts to improve or reform it were in the end abandoned, and today it remains basically the same as designed by Zamenhof.

     In the 20th century Occidental and Inter-lingual appeared, but these are designed primarily for scientific and technical use and stress reconcilability rather than active speech. The great advantage of artificial languages lies in their simplicity and the absence of irregular grammatical forms. However, they suffer from the lack of native speakers and national prestige, and in recent years interest in them has generally declined. The tremendous increase in the use and study of English since World War Ⅱ has led many to believe that English, rather than an artificial language, has the best chance of eventually becoming a universal tongue.

     Questions 18-20

     The first postal service in North America began in New England in the 17th century. All mail arriving in Massachusetts colony was sent to the home of the appointed official in Boston. In turn, he would deliver the mail from Boston on horseback to its destination, receiving one penny for each good article of mail. Later in the century postal services were established between Philadelphia and Delaware. In 1691, the British crown appointed the first postmaster general to have charge of the mail for all the colonies in North America. Later, Benjamin Franklin served as the postmaster general for the British government and then was made postmaster by the newly formed United States government. Franklin was responsible for establishing the United States postal system on permanent basis. He increased the number of post offices, introduced the use of stagecoaches to carry mail, and started a package service system. Later, in the nineteenth century, as railroad and steam boats appeared, they were used to carry mail into the towns. Some communities, especially those out west, were far from the services of transportation. To serve them, the post office developed a system called "star routes". Private contractors paid to deliver mail to the communities from railways by horse and wagon. The postal service, which was started over 3 centuries ago, has developed into an extensive government service with post offices in every city, town, and village in the United States.
